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1) Match each equation with the most suitable graph. Write the letter of the equ‘«ation beneath the matching
graph.
A) f(x) =2(x + 1)*(x — 3) B) f(x) = (x + 1)*(x — 3)?

Q) f(x) = —2(x + 1)(x — 3)2 D) f(x) = x(x + 1)(x — 3)(x — 5)
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2) Complete the table

Equation Degree C:)-:?f?ci:?egnt End Behaviour x-intercepts
X)) | (eota) (4,0)
fO) =(x—HEx+3)@x-1) X -0 Q3 o @1 |3
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g =-2(x+2)(x-2)QA +x)(x - 1) |- xr (2,47
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h(x) = Bx +2)*(x — D (x + 1)(2x — 3) |- 45 =g Q2 fo Q1 (4,9)
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3) For each graph, state...

i) the least possible degree and the sign of the leading coefficient
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i) degree: 2 _
leading coefficient: Po3)1hU

-1
ii) x-intercepts: -4, A ) 1
factors: (y;q) s (3a) i (’)c—()

iiii)

the x-intercepts (specify order of zero) and the factors of the function
the intervals where the function is positive/negative

Interval
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i) degree: L“
leading coefficient: I\)e%od»ﬂ)e,

ii) x-intercepts: -1 (oreer X) ) 4 (orde 3')
factors: (7&01) (%-%)&
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i) degree: "l
leading coefficient: Posiy e

ii) x-intercepts:

factors: (x+3) (%w(’)s’

iii)

-3, 1 (orddar3)

Interval

(-8,-3)

(-3,1)
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i) degree: 3

leading coefficient: “eaaa-nl*e,

ii) x-intercepts: - 5 (orcla~ ) , 3
factors: (21 4)> (144,3)
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4) For each function, complete the chart and sketch a possible graph of the function labelling key points.

a) f(x) =—-2(x—3)(x+2)(4x —3)

Degree Leading Coefficient End Behaviour Xx-intercepts y-intercept
E'k;)_g.’k)(’ld) - Q_(,()CDCLD (3”0) ?(O) c ,a‘(:_'_g‘)(}.) (_3)
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b)g(x)=(x—-1Dx+3)Q1+x)Bx—9)

Degree Leading Coefficient End Behaviour Xx-intercepts y-intercept
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¢ h(x) = —(x + 4)%(x — 1D23(x + 2)(2x — 3)

| Degree Leading Coefficient End Behaviour Xx-intercepts y-intercept
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d) p(x) = 3(x + 6)(x — 5)%(3x — 2)3

Degree Leading Coefficient End Behaviour X-intercepts y-intercept
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5) Write the equation of each function

a)
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6) Determine an equation for a quintic function with zeros -1 (order 3) and 3 (order 2) that passes through the
point (-2, 50)

.3 &
W)= 14 (%0 (-3) .
3 2
50 = K (~an) (-2-3) A 2
W) = - LY (2-3)
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7) Determine the zeros off(a_c) =Qx?—-x—-1)(x%*—-3x—4)
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Answer Key

1)BCAD
Equation - Degree C::::::‘:n s - _End_Behavlour x-Intercepts
(4,0)
i) = (2 - )(x +3)@x— 1) 3 2 a3 al ('fn 0)
(3.0)
(-2,0)
(-1,0)
g(x) = =2(x + 2)(x = 2)(1 + ©)(x — 1) 4 -2 Q3> as (1.0)
(2, 0]
N (@.0)
{-1,0)
h(x) = (3x + 2)¥(x - 4)(x + 1)(2x — 3) 8§ 18 a3i->al (_ 2l 0)
a
(Z0)
p(x) = —(x + 5)(x — 5)? 6 EY Qi as ((‘55":))
3) a) ) degree:3 B b) i) degree: 4
leading coefficient: positive leading coefficient: negative
illfx-inter‘cepts: -4,-0.5,1 f d ii) x-intercepts: -1 (order 2), 4 (order 2)
actors: (x +4), (2x +1),and (x — 1) factors: (x + 1)2, and (x — 4)?
il —00,—4) | (—4,-0.5) | (=0.5,1 1,00
) :;;:rval ( : )| € " )| € ; )| (€ " ) it} [Interval (oo, _1)"- "(___1‘ _) , (4, OO)
Sign - - =
C) i) degree: 4 d) i) degree: 3
leading coefficient: positive leading coefficient: negative
i) x-intercepts: -3, 1 {(order 3) ii) x-intercepts: -5 (order 2), 3
factors: (x + 3),and (x — 1) factors: (x + 5)%, and (x — 3)
iii) [interval | (~,—3) | (=3.1) | (1,) ili} | interval | (—,—5) | (=53) | (3,%)
Sign + . + Sign + + -
Degree Leading Coefficlent End pi ¥y
4) a) =
(-2,0)
3 -8 Q2> a4 (i 0) {0,-36)
>
b) Degree LeadIng Ct End p y-Intercept
(1,0
(-3,0)
4 3 Q->a 1.0y (0,27)
3.0
C) Degree Leading Coefficlent End Behavi ¥y
(-4, 0) order 2
(1, 0) order 2
6 -2 Q3> Q4 (2,0 (0, 96)
(1.5,0)
Degree Leading Coafficlant End Behaviour x-Intercepts y-intercept
d) 1-6,0)
8 81 Qa-2a (5, 0) order 2 {0, -3600)
G, 0) order 3

5)a)y =05(x+3)(x—2)(x —5) b)y=—(x+1)%(x—-2)(x—4)

y =—=2(x + 1)3(x — 3)?

7)4,1,-1,and -0.5






